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Answer anv tnc qucstnons
All questions carry equal marks

a) A point ‘M’ is 2 5 cms from x-axis and .5 ems ﬁom y—ams Draw a hvpcnbola yassing

+ through this point. - A e & ,
: A cncl«. of 40 mm dlametex is-t llmv oumdc t cuclc oftddms (O mmy, Draw. tlu, locus’;

ofa point on the circumference of rolling circle for ofie complete revolution.  * [748]
OR

2.a)  If 1 cm long line measures a real distance ot 40 m. Find R.F. The scale is to measure upto

metre and long enough upto 500 m. Mark on it a distance of 256 m.

b)  Draw involute of circle of 40 mm diameter and draw tangent and normal to the curve

. from.any point on the curve. J7+8]-

3.a) A 60-mm long line is paldllc']mi‘o‘ VP and inclined at.30° to H.P. 1t's one end is 10 mm-
above H.P. and 25 mm infront of V.P. Draw the projections.
b) A Hexagon of 3 cm side is resting on a corner in HP and its surface i IS 30" nmhncd to H.P.

and perpendicular to V.P. Draw the projections.
OR

The d:aﬂonals of Rhombus are. 120 mm and 50 mm. The lon%r dlaoonul 1S !ymo on ns

0.

A hexagonal pyramid of side 3 ecm height 6.5 cms is 1estmfT on one of its base edges in
V.P and inclined at 30° to H.P. Its axis is inclined at 40° to V.P. Draw the projections.
[15]
OR
“ A cylinder of 40 mni-diameter;-height 70 mm is resting on a point on the circumference.

" -of base circle: i,
lncl[ned at 40 ‘[0 V p: D[a\N the pl‘Q]CCthnS : L s B [1 5]

A pentagonal prism of side 3 cm height 7 cms is resting on its base in H.P. such that one
of the base edges is parallel to V.P. It is cut by a section plane perpendicular to V.P and
inclined at 60° to H.P. and passes through a point 15 mm below the top center. Draw the
; sectxoml top vxew and true shape of section. ; -

'A cone of 40 mm" dlametel 70 Hhin. hexght is restmo on its base in-H.P. It is cut:by a
section plane perpendicular to V.P, parallel to one of the generators and passes through a
point 15 mm below the apex. Draw the sectional top view and true shape of section.

[15]

1P, such that-its axisis 1nclmedv-at-.30Q to H. P and top view of the-axis 1S‘_g
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Draw the isomeui:
L thie ton of a frustum of square ¢

surface centraily -

e

1

projection of a hemisphere o:

bottomt face of 5 v side having a height of 5 em.

OR
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and side view:for th
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